
EE 230 —  HW 4.16               Name_________________________________________

In the circuit show at right, the Zener diode has a 
breakdown voltage of 5 V.

Calculate the two diode currents for the following 
combination of source values:

VS = +12 V, IS = +8 mA:   iD = _________________________, iZ = _________________________

VS = +12 V, IS = –8 mA:   iD = _________________________, iZ = _________________________

VS = -12 V, IS = +8 mA:   iD = _________________________, iZ = _________________________

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Put your answers — and whatever work will fit — on this sheet.  Staple sheets with additional work behind.
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